Statistical Power Calculation of WB experiment (Figure 2C and E)

. power twomeans 11 40, sdl1(3) sd2(2) alpha(.05) power (0.9
Performing iteration ...

Estimated sample sizes for a two-sample means test
Satterthwaite's t test assuming unequal variances

Ho: m2 = ml versus Ha: m2 != ml

Study parameters:

alpha = 0.0500
power = 0.9000
delta = 29.0000
ml = 11.0000
m2 = 40.0000
sdl = 3.0000
sd2 = 2.0000

Estimated sample sizes:

N = 4
N per group = 2

Statistical Power Calculation of qPCR experiment (Figure 2D)

. power twomeans 36 96, sdl(7) sd2(6) alpha(.05) power (0.9
Performing iteration ...

Estimated sample sizes for a two-sample means test
Satterthwaite's t test assuming unequal variances

Ho: m2 = ml versus Ha: m2 != ml

Study parameters:

alpha = 0.0500
power = 0.9000
delta = 60.0000
ml = 36.0000
m2 = 96.0000
sdl = 7.0000
sd2 = 6.0000

Estimated sample sizes:

N = 4
N per group = 2

We artificially reduced the difference and transformed the values multiplying by 100, because the
estimated power was not achievable given the domain limits of the power function.



